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CATHOLIC HIGH SCHOOL
'MID-YEAR EXAMINATION 2015
'MATHEMATICS
PRIMARY 5
PAPER 1
(BOOKLET A)

Name - ( )

Class: Primary 5
Date: 13 May 2015

Total Time for Booklets A and B: 50 min
15 guestions

20 marks

INSTRUCTIONS TO CANDIDATES

Do not tu_rn over this page until you are told to do so.
Follow all instructions carefully.
Answer all questions.
| Shade your answers in the Opﬁéal Answer Sheet &OAS) provided. .-

. '-The.use of calculators.is _NbT— éiiowed.

Booklet A and B-consist of 11 printed pages.



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 caify 2. marks eagh.
For each question, four options are Given.” Ofie.of them is the torrect answer.”
Make your choice (1, 2, 3 or 4). Shade the oval {1, 2, 3 or 4) on the Optical

Answer Sheet. All diagrams.are not drawn to scale,

{20 marks)

1. In which of the following is the digit '8’ in the hundred thousands place?

1)
-2)
3)
4)

2345 897 -
2 348 597

2 384 597
2 834 597

2. Which one of the following when roundéd off to the nearest thousand is*

234 0007
1) 233099
2) 233499
3) 234099
4) 234599

3. ~How many eighths are there in 2—2—"?

1)
2)
3)
4)

16
18
21
25

(Go on to the next pags)” -



4. Wiich &g or the Tollotving js not i sluivaléit raction of 27

-

4

1y 2

) 10

B

2 —_—

) 1=

8

Vo

y B
20
5. 4:1 . = 32 : 72. What is thé missing aumber.in the. box..

1) 8
2) 9

3) 12

4) 14

6.  Whatis the value of 2200 x 507

1) 110
2) 11000
3) 101000

4) 110000

7. The-area of a rectangle is 144 cm?. The breadth is 8 cm. What is the length of
the rectangle?

1) 9cm
2) 18 cm
' 3) 32com

: 4) 72cm'

(6o on 16 the next page)



Find the value of 15.2—6.78.

1) 7842 - S F
2) 858
3) 1158
4) 2198

| Express g-_as _a'decinia!i

1) 7.8
2) 875
3) 078
4) 0875

Mrs Ong bought 25 chicken buns and 40 red bean buns. What was the ratio
of the number of chicken buns to the number of red bean buns bought?

1) 5.8
2) 5:13
3) 8:5
4) . 8:13

Sam has 135 stickers. Sam has 45 stickers less than Tom. How many
stickers do they have altogether?

1) 90
2) 180
3) 225
4) 315

{Go on to the next page)



12,  Thefigwes below are two squares. Square Ahas a snde of4 cm. Square B
*“has a side of 6 cm. Find the tatio of the area of Square B to the area of

“square A
. SduareA Sq’uare B
4 cm + 8o >
(1) 3:2
(2 ©9:4
(3)
4) 4:8

13. Arepeated pattemn is formed using the letter A, B, C and D.

15t 2ﬂd 3rd 18“1
ALA,B, C D, D A A B C, DD A A B C, D D, ..

What is the letter in the 33" position?

M A
@ B
3 ¢
@ D

14.  There were 350 people at the stadium. The number of children was twice the
number of men. The number of men was twice the number of women. How
many women were there?

(1) 50

@ 70

(3) 100 o
@ 140

(Go on'to t_hé next page)



15. A rectangle ABCD is made up of 1 large friangle.and 12 small triangles. What
fraction of the rectangle ABCD is shaded?

()

2)

(3)

4)

END OF BOOKLET A
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MID-YEAR EXAMINATION 2015

MATHEMATICS
PRIMARY 5
PAPER 1
(BOOKLET B)
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INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions. carefully.
Answer all questions.

-Write your answers in this booklet.

" The'use of calculstors is NOT allowed.

Booklet A

Booklet B

"Total

Booklet A and B consist of 17 printed pages.




Questions 16 Yo 25 carry 1 mark each. Wrife your answers in the spaces provided.
For questions which require units, give your answers in the unils stated. All
diagrams are not drawn {o scale. : : Do not write
- {10.marks) | in this space
16.  Write six million, five hundred and three thoUsand and riineteen infigures.
Ans:
17.  Find the value of 74 — (23 - 8) ¥ 3 + 1186.
Ans:
" 48, Find thé value of 052 x 6.
Ans:
(Go.on'to the nextpage) =



- 11 1 1 1 T

*» What is the missing answer in the box?

Ans:

Do riot write
in'this space.

20.  Express 15 +4 as a mixed number in its simplest form. _

Ans:

21.  Arrange the following humbers from the smallest to the largest.

1800543, 190834, 13450908, 2453890

Ans’

B (Go on o the next page)




of
B L

+
[ P -

Ans;

" 23.

S
Lem

<, Juice.-was.sold.ih cups.coptaining 250 ml of juice each. How many cups of

At a drink stall, Mrs Raja sold 25 000 ml of apple juice’in a day. The apple

apple juice did she sell in a day?

Ans:

24,

Julian has a wire 12.28 m long. He bends it to make a square. What is the
length of each side of the square?

- " ST ol A L P L L -+ [L Do not write
22. ; A prntergan prink40 cards.in 1-minute: How-many:cards ean-the printer print
y o InAhQUR? o, - -y - M er v em e B

in this space,

-Ans: . om |}

~ (Go on'to the niext page)



29.

-5 11 The ratio of-the' number of:oranges 1o thie-nimbér of Mangdes is 2 : 3-

The ratio of the number of apples to the number of oranges in a basket is

What is the ratio of the number of apples {o the number of'orafiges to the
number of mangoes in the basket? Give your answer in the simplest form.

Do nof write
in this.spdce.

Ans;
R T3 F 0 SV S
Total imisrks for giiestions 46 to 25

10

" (Go on to the next page)



" Questions 26 to 30 cany 2 marks each. Show your working and write Your answers.

" in the:spaces provided: For quéstions whichre qUirs- units,'give yoir answers in the ™
sp equ give'yo

units stated: All diagrams are riot drawn to scals. = - o= (10-tharks)

26. Findthe fraction that is exactly the midpoint of -é% and g

Express your answer iri the simplest form.

l
I
2

o R o
ol or_|

Ans:

Do not write
in this space.

27.  Tara divided % of a cake equally among 4 fn'ehd_s. What fraction of the-cake

did each friend get? Express your answer in the simplest form.

Ans:

128 John has a rectangular photo frame. The ratio of the length of the frame to
the breadth of the frame is 2 : 1. The perimeter of the frame is 48 cm. Find
the'length of the frame. . . :

om

- (Go onto ’{hh;péxt"pagé) :
.10



.29.‘ ' James had the exact amount of money to buy 9 cheeseburgers He bought 6
cheeseburgers and had $4.50 left. How amuch -money did he have at first?

S ~ Ans:$

Do not write
in this space.

30. Every time Miguel put $2 in his savmgs box, his father put another $1 into the
box. When there were $63 in the savings box, how much money had been
put in by his father?

Total marks for questions 26 to 30

END OF BOOKLET B
END OF PAPER 1
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INSTRUCTIONS TO CANDIDATES gotalMarks 0o

Do nof turn over this page until you are told tu;o do s0.
Follow all instructions carefuily.

Answer all questions.

Write your answers in this booklet.

The use of an approved calculator is expected, where appropriate.

+ This booklet consists of 12 printed pages.. -



Questions 1 to § carry 2 marks each. Show your working c!eaﬂy in the space below
each question and write your ariswers in‘the spaces provnded

For questions which require“units, give your ahswers i thie units’ stated
All diagrams are not drawn 1o scale. Dg not write

(10 marks) | in this space,

1.

Jane mixed —i— kg of flour and % kg of tj'uttef" together. She used —;: of the

mixfu:e to bake oooki_es.' How mquh mixturefwéé left?

Ans: ka

2.

The table below shows the charges for sending a parcel. Ray sent a parcel of

mass 205 g How much did he pay? ‘

Chai‘ges

Mass of Parcel

For the first 150 g

$2.70

For every additional 50 g or part
thereof .

$1.50

. Ans:3 o

(Go on to the next pags)




Do not write

3.  The ratio of Alan’s mass to Ber's mass to.CarPs mass is 9777 6. Ben has a | in this spece.
mass of 56 kg. How much heavier is Alan than Carl?, :

Ans: kg

4. Mrs Tan bought 4 / of orange juice. She drank »;— 1. How much orange juice
was left?

Ans: __ . !

(Go on to the next page}



: RHE VS S DT R M Do hot write
5. The ﬁgure below i rnade of squares ‘Shade 2 squares so that the: dotted !me in this space.
AB is.aline of symnietry-ofithe: figure. - Her e M0
A B8
|
{

{Go on to the next page'



Do uot write

For quest:ons 6 to 18, show your workmg clearly in the space provided for each oo
_p'm this space.

questiori-and write:your-answers in thie spaces provided:.The numberof marks

available is shown in brackets [ ] at the end.of each squéstion-or parf-Guestion. .
(50 marks)

8. In a class of 42 ‘pupis;: -g of the. glds is equal to % of ihe boys. How many

girls are there in the ctass? R

Ans: I8}

7. Rico. had an equal number of chocolate cookies and peénut cookies. After
selling 384 peanut cockies, he had 3 times as many chocolate cookies as
peanut cookies. How many cookles did he have at first?

A alll

{Go on 10 the next page)



Do not writg
8. ‘Paul had'3 boxes of tafts. Théré Wasan eqgdal niifiber oftarfs in' éach: box at | in this space.
first- Heé Yook 12 tarisifrom each box; Then; the total naiiber of-tarts feftin .
this 3 boxes Was equal tothe total ritimber of tarts i 2bbxes &t first.”
What was the total number of tarts at first?

Ans: (3]

8. Ren and Chatlie had $270 at first. When Ben received $42 from. his mother,
. Charlie would have thrice as much money as Ben. How much money did Ben
have atfirst? '

oo Ans: ; | [3]

(Go on to the next page)



ano

- 0. .The ratio:ofttie number of red beads.to the numbir of gisen beads Davis had:
was 3 - 5:There were 70 more.green beads than red beads, Davis:bpught
ther 20 red beads. How:many-red beads did,Davis:have in the;end?.

Do not write
in this space.

Ans: I3}

11.
The watch and wallet cost $133.50 altogethe

Jack had some money. He spent.% of it on a watch and 5 of it on a walilet.

r. How much money had he left?

R

(Go on to the next paggy



i Do not write
12.  Atacamiyal, every girl was given 2 candyfloss:and every boywas given in‘this space.
3 candy floss. There were thrice as many girls as boys..A Yotal of B3 candy
floss weéte-given out. How many girls were there at the tamwai'? .

Hogem g . R LA
i Tl . AR

Ans; (14

13.  There were 40 children at a party. Each girl was given 5 balloons and each
boy was given 3 balloons. A total of 186 balloons were given to the chiidren
How many-more gitls than boys | were at the party'? .

{36 on io the next page)



14.

She sold 16 of the raisin muffins.
How many raisin muffins did Mrs Lee have left?

" ﬁirs Lee baked T 80 mtfff" ns § af them }Nere éi‘iocolate rnuﬁ”ns % of the
remamder were strawberry mufﬁns and the rest were :ais:rrmuﬂiris o

Ans:

Donot write
in this space

-

|

{Go on to the next page)



15.+

At firstKen‘had 150  stamps and-his brothei had: $6ime staimps: "‘Aﬂergwmg -
40 starfips ta his brother; the ratid' of the rnuffiber af siamps' K.en had to

the number of starnps his brotherhad was 5 - 3. :

(8) How many stamps did Ken-havein the-end?

{b) How many stamps did his brothér have at first?

Do not write'
in this space.

Aosi(@) o
R C P |

(Go on io the next page)




18. -

' Wendy:bought:some,applé pies for $43.20 and.had some:mopey left. If she

- : i Do not write

décided to.buy. -more:apple pie.she would: have $0.40:left dEshe. - . -
decided to buy 3 more apple pigs;:she would be short 0f.$1,80: - . &

(@ How many apple-piesdid shebuywith $13.207 - - . .. A
. “ :

(b)  How much moneydid Wendy have atfirst? ... oy -

R ——
[ |

s

in this space,

- B ' " (Go on to:the,next page)



T } Dp ot wiite
S 3 .in this spate.
17. Ray had some:money He spent 5 —of hIS money and an add;t:onal $30 ona

S = ;_-

blcycle He then spent 1o*f hlS remammg mcney and an add:ttonal $20 ona
skateboard Ray | had $80 !eft How much mongy ¢ dld he haue at f rst’? i

A 1]

-

(Go on o the next page)
-



18.

rririey- ofi & paif 'of speakérs-dhd ‘a thunibtdiiVe. The ratic of fhe amount of

" Do pot write

During 3 sale, John spent $850 of his money on a laptop and the remaining

money he spent on the pair of speakers to the thumb drive was 5: 2.

o s Tofio oy ortreparctspdbies.

(a) ~What fi%;ction' of the remaining money did Joﬁh‘f_;&pﬁhq: on the thumb
drive? ' - '

(b)  How mich money did Johiihad atfirst? T -

Ans: (a)_ [1]

(b) @

~"END OF PAPER 2 . _
GHECK YOUR WORK

{Go on to the next pagé)
.12 :

ini this spdce.
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SUBJECT : MATH

TERM : SAl

0i [ 0z | 03 | @4 [ Q5 | Q6 } Q7 08 | Q9 [ Q10
4 3 3 3 2 4 2 1 4 1
Qi1 | 012 | Q13 | Q14 | Q15
4 2 2 1 i

Q16. ANS : 6503019
Q17.ANS:45
74-15%3+16=74—-45+16=29+16=45

Q18.ANS:3.12

Q19.ANS: 4
11 11 11
7 3 4

11 31 11

QZO.ANS:S%
L a-15_g3
15+4=2=32

Q21. ANS: 190834 ,1345 9pg8,1 809 543, 2453 890

Q22. ANS : 2400
1 hr = 60minutes, 60 x 40 = 2400

Q23.ANS:100
25000m] = 250ml = 100

Q24. ANS : 3.07m
12.28 + 4=3.07

Q25. ANS:10:2: 3

APPLE : ORANGE ORANGE : MANGEO
5 o1 2 3

=10 : 2 = 2 - 3

(Q26.ANS : %

S .o

= +3= %

Q27.ANS:%

2 L4 2yl
574“3}{4?_%

Get PSJ Private Tutor to Guide you through Exams Now!
Contact www.privatetutor.com.sg



Q28.16cm
Length : Breadth
2 - 1 .
2U+ 10 +2U +1U=6U
6U=48
IU=48+=6=8
Length=8x2=16

||

Q29. ANS : $13.50
9-6=3 . . .
3y = $4.50 , 1U + $1.50, 9U = $1.50 X9 =4$13.50.

Q30.ANS:$21 ) .- :
1group=2+1=3,63 %3=21gr_eup,21x$1=$21

Q1. ANS: Zkg

16
p
+ - =
8

[
1o

@1~

=+

I«

3
4
7
8

T

X z
16

Q2. ANS : $5.70$2.70 + $1.50 + $1.50=$5.70

Q3. ANS: 24 KG

ALAN : BEN : CARL
9 . 7 : 6
72 . 56 : 48

| Difference =72 —48 = 24kg

Q4. ANS: 3§1itre

42232 -1 =3hitre
2 z 2 2 :

Q5. ANS : SEE PICTURE

PAGE 2



Q6. ANS : 24 girls -
1 of girls = %5 of the boys

2 -

/a of girls = % of boys
AU+3U=7U,70=42,7U=42,IU=42+7=6
Girls=4x6=24

Q7. ANS : 1152 cookies
2U0=384,1U=384+2=192.
Atfirst =192 + 384 =576

Peanut + Chocolate =576 x 2=1152

(Q8.ANS: 108 tarts

1 box at first=12x3 =36.

3 boxes at first=36x3 = 108
36-12=24,24x3=72,2boxat first= 36x2 72

Q9. ANS: $36

270+ 42=312
4U=312-(42X4)=312-168=144
4J=144,10=144+4 =36

(10. ANS: 125 red beads

5U0-3U=2U
2U0=70,10=70+2=35,3U=35X3=105
Red beads, end =105 + 20 =125

Q11. Ans: $186.90

U= 1335 [U=1335+5=26.70,7U=26.70 X7 = 186.90

Q12. ANS: 21 givls
1group=(3x2)+(1+3)=6+3=9
63 + 9 =7 groups

Girls=7x3=21

Q13.ANS:26

Assume all girls,
40x5=200,200-186=14,5-3=2
Boys=14 2=7.
Girls=40-7=33
Difference=33-7=26

Q14. 44 raisin muffins
4U = 180 ,1U =180 + 2 =20

| Rasinleft = 60165 44

PAGE3




Q15a ANS : 110 Q15b. 26

fKEN : BROTHER
5 :- 3
110 - 66

Ken, now=150-40=110
Brother, at first = 66 - 40 = 26

Q16a. ANS: 12 apple pies Q16b. $14.70
$1.80 +$0.40=$2.20, 3-1=2

2 apple pies=$2.20

1 apple pie=$2.20 + 2 = $1.10

Bought $13.20 = $1.10 =12

Wendy, at first = 413.20 + $1.10 + $0.40 = $14.70

Q17.ANS : $450
20 = $80 + $20 = 4100
1U =$100+2=$50,3U =450 X3 =4150

" | 2 of the total = 4150 + $30 = $180
of the total = $180 <+ 2 = $90
of the total = $90 x 5 = $450

Wl )

Q18a. ANS:> Q18b. $1000

5 -
Speaker = —of remaining
7 ) 2

7 7 7 5
Thumbdrive = >of remaining
7 of total = 5U

3 of total = 15u

o ’E of total = 204

1BU - 20 =130
13U = $650,1U =$650 = 13 =50, 20U = 50 X 20 = 1000

THE END
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